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TEST INSTRUCTIONS  

FILLING IN PERSONAL DETAILS  

On receiving the Answer Sheet (this is the sheet titled 
"ANSWER SHEET") please fill in your Name ,Test Date 
,Test Time , ID in the space provided in the Answer 
Sheet. DO NOT FAIL TO DO THIS. Fill in the Data Sheet 
(this is the sheet titled "DATA SHEET" on the reverse of 
the Answer Sheet").  

You must receive rough sheets along with your Answer 
Sheets which are to be used for rough work during the 
Test.  

This test has section(s) as described in the table below. 
You will receive a separate booklet for each Section of 
the test starting from Section 1 followed by Section 2 and 
so on. If your test has only one section you will receive 
only Section 1.  

Your Test has the following Sections:  

Section  Section Title  Time in (Minutes)  Question Nos.  

1  Part A  120  1 to 36  

2  Part B  120  37 to 120  

You will have to attempt Section 1 first followed by 
Section 2 and so on. Each Section must be completed in 
the allotted time. At the end of the allotted time for each 
Section the Test Administrator will take back the 
Question Paper booklet for the completed Section and 
give you the booklet for the next section. This will be 
repeated until you complete all Sections.  

 

HOW TO TAKE A TEST?  

On receiving the first Section of the Question Paper (this 
is the booklet titled "QUESTION PAPER") please write 
down the Set number (number on the left hand top corner 
of the Question Paper) onto the Answer Sheet in the 
space provided.DO NOT FAIL TO DO THIS.  

It is important that you try and attempt as many questions 
as possible. In case you are faced with a difficult question 
it may be a good idea to go ahead and attempt other 
questions and return to the questions you were unable to 
solve in the first attempt. Each correct answer carries 1 
mark.  

You should mark your answers on the Answer Sheet 
provided. Please indicate your answers by shading the 
circle with the appropriate letter for each question as 
shown below. Please shade the circles completely as 
indicated below. Do not tick or cross the circle.  

 

You will be given rough sheets for making calculations. 
In case your Test Administrator has not given you a 
rough sheet please ask for it before starting your Test.  

ALL THE BEST!!  

 
 

 

Space for rough work  
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Section 1 - Part A 

 

 

 

1) Which institution was setup by 
Technology Information, Forecasting & 
Assessment Council (TIFAC), Govt. of 
India and Govt. of Rajasthan to create 
awareness on Intellectual Property 
Rights and facilitate filing of patents? / 
dkSu lh laLFkk ckSf)d laink vf/kdkj ij tkx:drk 
iSnk djus vkSj isVsaV nkf[ky djus dh lqfo/kk ds fy, 
VsDu‚yth buQeZs'ku] QksjdSfLVax & vlsLesaV dkmafly 
¼TIFAC½] Hkkjr ljdkj vkSj jktLFkku ljdkj }kjk 
LFkkfir dh xbZ Fkh\  

A)  Office of Patents / isVsaV ds dk;kZy;  

B)  Patent Awareness Center (PAC) / 
isVsaV tkx:drk dsaæ ¼PAC½  

C)  Patent Information Centre (PIC) / isVsaV 
lwpuk dsaæ ¼PIC½  

D)  e-Patent Center / bZ&isVsaV dsaæ  

 
2) The ancient scholar Kalidasa is 
associated with which of the following 
period? / çkphu fo}ku dkfynkl fdl vof/k dky 
ls lacaf/kr gSa\  

A)  The Guptas / xqIr  

B)  The Pallavas / iYyo  

C)  The Mouryas / ekS;Z  

D)  The Cholas / pksy  

 
3) Sariska and Ranthambore are the 
famous reserve for which of the 

following animals? / lfjLdk vkSj j.kFkaHkkSj 
vHk;kj.; fdl i'kq ds fy, çfl) gSa\  

A)  Elephant / gkFkh  

B)  Deer / fgj.k  

C)  Tiger / ck?k  

D)  Bear / Hkkyw  

 
4) Suman bought an old computer for 
12000 rupees. She repaired that and put 
spare parts worth 13000 rupees. Now, 
she sold the computer for 29000 rupees. 
How much profit did she make? / lqeu us 
,d परुाना dEI;wVj 12000# esa [kjhnkA mlus bldh 
ejEer ds fy, 13000# ds Lis;j ikV~lZ yxk,A vc] 
mlus dEI;wVj dks 29000# esa csp fn;kA mlus fdruk 
ykHk vftZr fd;k\  

A)  15%  

B)  16%  

C)  12%  

D)  10%  
 

 

 

 

 

 

No. of Questions: 36 

Duration in Minutes: 120 
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5) What will be the "mean of the 
deviation about median" for the set of 
first 8 even natural numbers? / igyh 8 सम 

çk—frd la[;kvksa ds oxksaZ ds leqPp; ds fy, ^ekf/;dk 
ds vklikl ek/; fopyu* D;k gksxk\  

A)  5  

B)  6  

C)  3  

D)  4  

 
6) Vikram spends 37.5% of the day in 
sleeping. For how many hours Vikram 
sleeps in a day? / foØe vius fnu dk 37-5% 
le; lksus esa O;rhr djrk gSA og ,d fnu esa fdrus 
?kaVs lksrk gS\  

A)  6 hours / 6 ?kaVs  

B)  9 hours / 9 ?kaVs  

C)  10 hours / 10 ?kaVs  

D)  8 hours / 8 ?kaVs  

 
7) Which three wildlife sanctuaries are 
located in the Darrah National Park? / 
njkg jk"Vªh; m|ku esa dkSu ls rhu oU;tho vHk;kj.; 
vofLFkr gSa\  

A)  The Keladevi Wildlife Sanctuary, The 
Jaswant Sagar Wildlife Sanctuary, 
The Chambal Wildlife Sanctuary / 
dsyknsoh oU;tho vHk;kj.;, tloar lkxj 
oU;tho vHk;kj.;, pacy oU;tho vHk;kj.;  

B)  The Darrah Wildlife Sanctuary, The 
Chambal Wildlife Sanctuary and The 
Jaswant Sagar Wildlife Sanctuary / 
njkg oU;tho vHk;kj.;, pacy oU;tho vHk;kj.; 
vkSj tloar lkxj oU;tho vHk;kj.;  

C)  The National Chambal Sanctuary, 
The Darrah Wildlife Sanctuary, The 
Chambal Wildlife Sanctuary / jk"Vªh; 

pacy vHk;jk.;, njkg oU;tho vHk;kj.;, pacy 
oU;tho vHk;kj.;  

D)  The Mount Abu Wildlife Sanctuary, 
The Darrah Wildlife Sanctuary, The 
Chambal Wildlife Sanctuary / ekmaV vkcw 
oU;tho vHk;kj.;, njkg oU;tho vHk;kj.;, 
pacy oU;tho vHk;kj.;  

 
8) Who had founded the Satya Sodhak 
Samaj? / lR; 'kks/kd lekt dh LFkkiuk fdlus dh 
Fkh\  

A)  Jyotiba Phule / T;ksfrck Qqys  

B)  Swami Vivekananda / Lokeh foosdkuan  

C)  Sri Ramakrishna Paramahamsa / Jh 
jke—".k ijegal  

D)  Swami Dayananda / Lokeh n;kuan  

 
9) In which of the following districtsof 
Rajasthan Red Loams soil is found ?/ 
jktLFkku ds fdl ftys esa yky ykseh feêh ikbZ tkrh 
gS\  

A)  Dungarpur/ Mwaxjiqj  

B)  Jhunjhunu />qa>quw  

C)  Bundi / cwanh  

D)  Barmer / ckM+esM+  

 
10) Kalinga war changed the life of king 
Ashoka. Which modern state of India is 
Kalinga located? / dfyax ;q) us lezkV v'kksd 
dh ftanxh cny nh FkhA Hkkjr ds fdl vk/kqfud jkT; 
esa dfyax fLFkr gS\  

A)  Orissa / mM+hlk  

B)  Bihar / fcgkj  

C)  Haryana / gfj;k.kk  

D)  West Bangal / if'pe caxky  
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11) Which of the following battle paved 
the way for the foundation of Mughal 
Empire in India? / fuEu esa ls dkSu lh yM+kbZ us 
Hkkjr esa eqxy lkezkT; dh uhao dk ekxZ ç'kLr fd;k 
Fkk\  

A)  First Battle of Panipat / ikuhir dh igyh 
yM+kbZ  

B)  Second Battle of Panipat / ikuhir dh 
nwljh yM+kbZ  

C)  Battle of Plassey / Iyklh dh yM+kbZ  

D)  Battle of Tarain / rjkbu dh yM+kbZ  

 
12) nks ;k nks ls vf/kd inksa ds esy ls cuk 'kCn D;k 
dgykrk gS \  

A)  o.kZ foPNsn  

B)  lfU/k foPNsn  

C)  lkekfld in  

D)  lekl foxzg  

 
13) xf.kr esa ç;qä gksus okyk 'prqHkqZt' 'kCn fdl 
lekl dk mnkgj.k ekuk tk,xk \  

A)  cgqozhfg  

B)  }a}  

C)  f}xq  

D)  vO;;hHkko  

 
14) fdl lekl esa lkekfld in ds feyus dh çfØ;k 
esa dkjd fpà dk yksi gks tkrk gS \  

A)  cgqozhfg  

B)  rRiq#"k  

C)  vO;;hHkko  

D)  }a}  

 
15) Mention the name of the lake 
created by Lord Brahma by merging the 
waters of four holy places of hindus in 

India? / Hkkjr esa fganqvksa dh pkj ifo= LFkkuksa ds ty 
dks feykdj Hkxoku czãk }kjk dkSu lh >hy dk fuekZ.k 
fd;k x;k gS\  

A)  Fateh Sagar Lake / Qrsg lkxj >hy  

B)  Pushkar Lake / iq"dj >hy  

C)  Pichola Lake / fiNksyk >hy  

D)  Pachprada Lake / iNçnk >hy  

 
16) Which one of the following is the 
highest peak of North-Eastern Aravalli 
Region ?/ fuEu esa ls dkSu lh ,d mÙkj&iwohZ 
vjkoyh {ks= dh lcls Åaph pksVh gS\  

A)  Barwara /cjokjk  

B)  Bhairach/ HkSjp  

C)  Khoh / [kksg  

D)  Raghunathgarh / j?kqukFkx<+  

 
17) Which of the following means the 
basic facilities and services which 
facilitates different economic activities 
and thereby help in economic 
development of the country? / fuEu esa ls 
fdls fofHkUu vkfFkZd xfrfof/k;ksa ds tfj, ns'k ds 
vkfFkZd fodkl esa enn djus okyh ekSfyd lqfo/kkvksa 
vkSj lsokvksa ds :i esa ekuk tkrk gS\  

A)  Development / fodkl  

B)  Planning / fu;kstu  

C)  Infrastructure / volajpuk  

D)  Culture / laL—fr  
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18) Which of the following is a collection 
of methods that allows correction of a 
gene defect that has been diagnosed in 
a child or embryo? / ,d cPps ;k Hkzw.k esa igpkus 
,d thu nks"k ds lq/kkj dh vuqefr nsus okyk fof/k dk 
laxzg fuEu esa ls dkSu lk gS\  

A)  Molecular Diagnosis / vkf.od jksxfunku  

B)  Gene Technology / thu çkS|ksfxdh  

C)  Gene Therapy / thu jksxksipkj  

D)  Deformative sequencing / fo:i 
vuqØe.k  

 
19) Name the viceroy during which the 
Ilbert Bill Controversy occurred? / ml 
ok;ljk; dk uke crk,a ftlds dk;Zdky ds nkSjku 
bYcVZ fcy fookn mRiUu gqvk Fkk\  

A)  Lord Willingdon / ykWMZ fofyaXMu  

B)  Lord Wavell / ykWMZ okosy  

C)  Lord Curzon / y‚MZ dtZu  

D)  Lord Ripon / ykWMZ fjiu  

 
20) How many states in India have 
passed Vexation bill before Rajasthan? / 
jktLFkku ls igys Hkkjr ds fdrus jkT;ksa us osDls'ku 
fo/ks;d ikfjr fd;k Fkk\  

A)  Four / pkj  

B)  Seven / lkr  

C)  One / ,d  

D)  Two / nks  

 
21) In Rajasthan, Satellite Based 
Communication Network (SATCOM) is 
used for which of the following education 
services apart from other government 
services? / jktLFkku esa vU; ljdkjh lsokvksa ds 
vykok fuEufyf[kr esa ls fdu f'k{kk lsokvksa ds fy, 

lSfVykbV csLM dE;qfuds'ku usVodZ ¼SATCOM½ dk 
bLrseky fd;k tkrk gS\  

A)  Kids Education Centers / cPpksa ds f'k{kk 
dsUæksa  

B)  Students Awareness Programs / Nk= 
tkx:drk dk;ZØe  

C)  Engineering and Medical Coaching / 
bathfu;fjax vkSj esfMdy dksfpax  

D)  Vocational Training Courses / 
O;kolkf;d çf'k{k.k ikBîØe  

 
22) Gaofen 4, The World's Most 
Powerful GEO Spy Satellite was 
launched by / nqfu;k ds lokZf/kd 'kfä'kkyh 
GEO LikbZ lsVsykbV] xkvksQu 4 dks fdlds }kjk 
ykap fd;k x;k Fkk\  

A)  USA / USA  

B)  Russia / :l  

C)  China / phu  

D)  India / Hkkjr  

 
23) How many MoUs were signed by 
Rajasthan Government on 20-Nov-2015 
during the Resurgent Partnership 
Summit 2015? / fjltsaZV ikVZujf'ki lfeV 2015 
ds nkSjku] 20 uoacj 2015 dks jktLFkku ljdkj }kjk 
fdrus le>kSrk Kkiuksa ij gLrk{kj fd, x, Fks\  

A)  285  

B)  275  

C)  265  

D)  295  
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24) Rajasthan Fiscal Responsibility and 
Budget Management Act was enacted in 
which year? / jktLFkku foÙkh; nkf;Ro vkSj ctV 
çca/ku vf/kfu;e fdl o"kZ vf/kfu;fer fd;k x;k Fkk\  

A)  2007-08  

B)  2005-06  

C)  2006-07  

D)  2004-05  

 
25) Which one of the following 
automobile companies was accused by 
The U.S. Environmental Protection 
Agency for cheating on diesel emissions 
tests? / fuEu esa ls fdl vkWVkseksckby daiuh ij 
U.S. ,aokW;jesaVy çksVsD'ku ,tsalh }kjk Mhty ,fe'ku 
VsLV ij /kks[kk/kM+h dk vkjksi yxk;k x;k Fkk\  

A)  Porsche / iks'kZ  

B)  Volkswagen / o‚YloSxu  

C)  Mercedes-Benz / elZMht&csat  

D)  BMW / BMW  

 
26) Which of the following lakes of 
Rajasthan contains high sodium 
chloride/Sulfate?/ jktLFkku dh fdl >hy esa 
lksfM;e DyksjkbM@lYQsV dh mPp ek=k ikbZ tkrh gS\  

A)  Ana Sagar/ vuk lkxj  

B)  Pushkar / iq"dj  

C)  Didwana / nhnokuk  

D)  Kaylana /ds;ykuk  

 
27) Rajasthan won the Krishi Karman 
Award 2014-15 for the production of / 
jktLFkku us fdlds mRiknu ds fy, —f"k deZ.k 
iqjLdkj 2014&15 thrk Fkk\  

A)  Wheat / xsgw¡  

B)  Pulses / nkyksa  

C)  Oil Seeds / frygu  

D)  Rice / pkoy  

 
28) How many meaningful English 
words can be made with the letters O E 
H M using each letter only once in each 
word?  / O E H M  o.kksZa ls izR;sd o.kZ dks çR;sd 
'kCn esa dsoy ,d ckj iz;ksx djds fdrus vFkZiw.kZ 
vaxzsth 'kCnksa dks cuk;k tk ldrk gS\  

A)  2  

B)  1  

C)  4  

D)  3  
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29) Read the statement and the 
conclusions given below: Choose the 
right conclusion that logically follows.  
 
ननचे दिए गए कथन और ननष्कर्ष को पढ़ें। उस ननष्कर्ष  का 
चयन करें जो तार्कष क रूप से सही है ।    
 
Statement : 
If Ramu is a good artist, then they have 
definitely a job for you. 
 
Conclusion : 
I. Ramu is a good artist. 
II. They are in need of good artist. 
 
dFku % 
;fn jkew ,d vPNk dykdkj gS] rks muds ikl vkids 
fy, dke t:j gksxkA 
 
fu"d"kZ% 
I. jkew ,d cf<+;k dykdkj gSA 
II. mUgsa vPNs dykdkjksa dh t:jr gSA 

 

A)  Only conclusion I follows./ dsoy fu"d"kZ 
I lgh gS  

B)  Both I and II follows./ nksuksa I vkSj II lgh 
gSa  

C)  Only conclusion II follows./ dsoy fu"d"kZ 
II lgh gS  

D)  Either I or II follows./ ;k rks I ;k II lgh gS  

 
30) Read the statement and the 
conclusions given below: Choose the 
right conclusion that logically follows. 
 
 ननच ेदिए गए कथन और ननष्कर्ष को पढ़ें। उस ननष्कर्ष  का 
चयन करें जो तार्कष क रूप से सही है ।   
 
Statement : 
Now-a-days, the sale of television sets 
of company X has increased. 

 
Conclusion : 
I. The sale of television sets of other 
company has decreased. 
II. The sale of television sets of company 
X was nil in past 
 
dFku% 
vktdy] daiuh X ds Vsyhfotu lsVksa dh fcØh c<+ xbZ 
gSA 
 
fu"d"kZ% 
 
I. vU; daifu;ksa ds Vsyhfotu lsVksa dh fcØh ?kV xbZ 
gSA 
II. daiuh X ds Vsyhfotu lsVksa dh fcØh igys 'kwU; 
FkhA  

A)  Only conclusion II follows./ dsoy fu"d"kZ 
II lgh gS  

B)  Both I and II follows./ nksuksa I vkSj II lgh 
gSa  

C)  Neither I nor II follows./ uk rks I uk II lgh 
gS  

D)  Only conclusion I follows./ dsoy fu"d"kZ 
I lgh gS  

 
31) Choose the one-word substitute :  
A person, who works with a particular 
technology.  

 

A)  technologist  

B)  expert  

C)  specialist  

D)  leader  
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32) Fill in the blanks with the correct 
option.  
She spoke in _____ normal, detached 
tone.  

A)  the  

B)  No Article  

C)  an  

D)  a  

 
33) Identify the correct words to fill in the 
blanks:  
My father was a real ______; his 
_______ behaviour was considered by 
many as arrogance.  

A)  authoritative,authoritarian  

B)  authoritative, authoritative  

C)  authoritarian, authoritarian  

D)  authoritarian, authoritative  

 
34) Identify the correct sentence in 
Indirect Speech:  
 Pranav said, ‘I like swimming.’  

A)  Pranav said I liked swimming.  

B)  Pranav said that I like swimming.  

C)  Pranav said that he likes swimming.  

D)  Pranav said that he liked swimming.  

 
35) Which of the following is the state 
bird of Rajasthan? / fuEu esa ls dkSu lk ,d 
jktLFkku dk jktdh; i{kh gS\  

A)  Godavan / xksnkou  

B)  Owl / mYyw  

C)  Crane / Øsu  

D)  Saras / lkjl  
 

 

36) What does HAM stand for which was 
launched by centre to fund road projects 
to aid revival by creating jobs and 
pushing income growth? / HAM dk iw.kZ :i 
D;k gS ftls dsaæ }kjk ukSdfj;ksa ds l`tu vkSj vk; o`f) 
dks c<+kok nsrs gq, iquthZou esa lgk;rk iznku djus ds 
fy, lM+d ifj;kstukvksa dks foÙk iksf"kr djus ds fy, 
vkjaHk fd;k x;k Fkk\  

A)  Hybrid Annuity Model / gkbfczM ,sU;qbVh 
e‚My  

B)  Hybrid Anmol Model / gkbfczM vueksy 
e‚My  

C)  Hybrid Associated Model / gkbfczM 
,lksfl,fVM e‚My  

D)  Hybrid Annual Model / gkbfczM ,suqvy 
e‚My  
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Section 2 - Part B 

 

 

 

37) The relative stability of a sewage 
sample, whose dissolved oxygen is 
same as the total oxygen required to 

satisfy BOD , is / ml lhost (मलजल) lSEiy dh 
lacaf/kr fLFkjrk D;k gS] ftldh fo?kfVr vkWDlhtu 
BOD dh lar`f"V ds fy, vko';d dqy v‚Dlhtu ds 
cjkcj gS\  

A)  zero / 'kwU;  

B)  1 / 1  

C)  infinity / vuUr सखं्या  
D)  100 / 100  

 
38) Lacey's theory is applicable to flow / 
yslh dk fl)kar fdlds ek/;e ls çokg ds fy, ykxw 
gksrk gS\  

A)  Over spillways / fLiyos ij  

B)  In concrete lined canals / 
कंकरीट  ls पररत ugjksa esa   

C)  Through pipe / ikbi ds ek/;e ls  

D)  In alluvial rivers and canals / tyks<+ 
ufn;ksa vkSj ugjksa esa  

 
39) A structure which is so proportioned 
that its own weight resists the forces 
exerted upon it, is a / oks lajpuk dkSu lh gS] tks 
bruh lkuqikfrd gS fd bldk viuk Hkkj bl ij ykxw 
cy dk izfrjks/k djrk gS\  

A)  Gravity Dam / xzsfoVh MSe  

B)  Arch Dam / vkdZ MSe  

C)  Steel Dam / LVhy MSe  

D)  Timber Dam / fVacj MSe  

 
40) Which of the following doors 
provides entrance to one and exit to 
another simultaneously , and closes 
automatically when not in use? / fuEu esa ls 
dkSu lk njoktk@Mksj ,d lkFk ,d O;fDr dks izos'k 
vkSj vU; dks fudkl iznku djrk gS] vkSj iz;ksx esa u 
gksus ij Lor% can gks tkrk gS\  

A)  Sliding door / LykbfMax Mksj  

B)  Collapsible door / कलपै्सबल Mksj  

C)  Revolving door / fjoksyfoax Mksj  

D)  Flush door / ¶y'k Mksj  

 
41) If the metacentric heights of two 
floating bodies A and B are 1m and 
1.5m, then which of the following is a 
correct statement? / ;fn nks तरैने वाले fiaM A 

vkSj B dh esVklsafVªd Åapkb;ka Øe'k% 1eh vkSj 1-5eh 
gS] rks fuEu esa ls dkSu lk ,d lgh dFku gS\  

A)  The body A is more stable than body 
B / fiaM A fiaM B ls vf/kd fLFkj gS  

B)  The body B is more stable than body 
A / fiaM B fiaM A ls vf/kd fLFkj gS  

C)  The bodies A and B have equal 
stability / fiaM A vkSj B esa cjkcj fLFkjrk gS  

D)  The bodies A and B are unstable / 
fiaM A vkSj B vfLFkj gSa  

 

No. of Questions: 84 

Duration in Minutes: 120 
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42) In an open channel flow / ,d [kqys pSuy 
çokg esa  

A)  Total energy line is below free 
surface / dqy ÅtkZ ykbu eqä lrg ds uhps 
gksrh gS  

B)  Hydraulic gradient line is below free 
surface / gkbMªksfyd xzsfM,aV ykbu eqä lrg 
ds uhps gksrh gS  

C)  Total energy line coincides with free 
surface / dqy ÅtkZ ykbu eqä lrg ds lkFk 
esy [kkrh gS  

D)  Hydraulic gradient line coincides with 
free surface / gkbMªksfyd xzsfM,aV ykbu eqä 
lrg ds lkFk esy [kkrh gS  

 
43) A survey which is carried out to 
determine the precise position on the 
surface of the earth of a system of 
widely distant points is / O;kid nwjLFk fcanqvksa 
dh iz.kkyh dh Hkw lrg ij lVhd fLFkfr dk fu/kkZj.k 
djus ds fy, fd;k tkus okyk losZ{k.k gS  

A)  plane survey / lery losZ{k.k  

B)  geographical survey / HkkSxksfyd losZ{k.k  

C)  geodetic survey / Hkwxf.krh; losZ{k.k  

D)  topographical survey / LFkyk—frd losZ{k.k  

 
44) The provision of traffic signals at 
intersections / pkSjkgs ij VªSfQd flXuy dk 
izko/kku  

A)  Increases right angled and rear end 

collisions / राइट ऐंगग्लड vkSj jh;j ,saM Vdjko 
dks c<+krk gS  

B)  Reduces right angled and rear end 
collisions / राइट ऐंगग्लड vkSj jh;j ,saM Vdjko 
dks de djrk gS  

C)  Reduces right angled collisions but 
may increase rear end collisions / 

राइट ऐंगग्लड Vdjko dks de djrk gS ijUrq jh;j 
,saM Vdjko dks c<+krk gS  

D)  Reduces rear end collisions but may 
increase right angled collisions / jh;j 
,saM Vdjko dks de djrk gS ijUrq राइट ऐगंग्लड 
Vdjko dks c<+krk gS  

 
45) For cantilever beams and slabs, the 
basic value of span to effective depth 
ratio is /  dsaVhyhoj che ,oa LySc ds 
fy,] स्पनै और çHkkoh xgjkbZ ds vuqikr dk cqfu;knh 
ewY; gS  

A)  10  

B)  26  

C)  20  

D)  7  

 
46) The quadrantal bearing of a line AB 
is N18° 20' W. What will the bearing of 
line AB into whole circle bearing 
system? / js[kk AB dh o`Rriknh; ch;fjax N18° 

20' W gSA lEiw.kZ o`Rr ch;fjax iz.kkyh esa js[kk AB 
dh ch;fjax D;k gksxh\  

A)  198° 20'  

B)  18° 20'  

C)  108° 20'  

D)  341° 40'  

 
47) Timber can be made fire resistant by 
/ fVacj dks fdlds }kjk vkx çfrjks/kh cuk;k tk ldrk 
gS\  

A)  Sir Abel's Process / lj ,csy dh çfØ;k  

B)  hot and cold open tank treatment / xeZ 
vkSj BaMs [kqys VSad mipkj }kjk  

C)  charring / psfjax  

D)  dipping and steeping process / fMfiax 
,oa LVhfiax çfØ;k }kjk  
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48) Two plates of thickness 14 mm and 
16 mm are to be joined by a double-V 
Butt weld. The effective length of the 
weld is 175 mm, the allowable stress in 
tension is 150 N/mm2 and the joint is 
subjected to a tensile force of 280 kN. 
Find the strength of the weld in kN. / 
14feeh vkSj 16feeh eksVkbZ dh nks IysVksa dks MCy-V cV 
osYM }kjk tksM+k x;k gSA osYM dh izHkkoh yackbZ 175 
mm] ruko esa Lohdk;Z ruko N/mm2 gS vkSj tksM+ 
280 kN dh rU; 'kfä ds v/khu gSA kN esa osYM dh 
'kfä Kkr djsaA  

A)  200.5 kN  

B)  157.5 kN  

C)  467.5 kN  

D)  367.5 kN  

 
49) A fillet weld is not recommended if 
the angle between the fusion faces is / 
lay;u ds chp dk dks.k fdruk gksus ij] fQysV osYM 
dh flQkfj'k ugha dh tkrh gS\  

A)  equal to 60o / 60o ds cjkcj  

B)  equal to 120o / 120o ds cjkcj  

C)  equal to 90o / 90o ds cjkcj  

D)  less than 60o / 60o ls de  

 
50) In which of the following conditions a 
land is said to be water logged? / fuEu esa 
ls fdl fLFkfr esa] Hkwfe dks ty Hkjko {ks= dgk tkrk 
gS\  

A)  When the permanent wilting point is 
reached / tc LFkk;h fofYVax IokbaV rd igq¡p 
tkrk gS  

B)  When gravity drainage has ceased / 
tc xq#Rokd"kZ.k ty fudklh can gks tkrh gS  

C)  If the capillary fringe reaches the root 
zone of plants / ;fn dsfiyjh fÝat ikS/kksa dh 
tM+ {ks= rd igq¡p tkrk gS  

D)  If the capillary fringe does not reach 
the root zone of plants / ;fn dsfiyjh 
fÝat ikS/kksa dh tM+ {ks= rd ugha igq¡p ikrk gS  

 
51) The average compressive strength 
of 2nd class bricks should not be less 

than / nwljs oxZ (सेकंड क्लॉस) dh bZaVksa dh vkSlru 
laihMu 'kfä fdlls de ugha gksuh pkfg,\  

A)  75 kg/cm2  

B)  12 kg/cm2  

C)  10 kg/cm2  

D)  15 kg/cm2  

 
52) The valve which allows uni-
directional flow of water in a pipe is 
called / ml okYo dks D;k dgk tkrk gS tks ikbi esa 
ikuh ds ,dleku fn'kkRed çokg dh vuqefr nsrk gS\  

A)  Reflux valve / jh¶yDl okYo  

B)  Washout valve / okW'kvkmV okYo  

C)  Gate valve / xsV okYo  

D)  Sluice valve / Lywbl okYo  

 
53) Which of the following is not a 
method of computation of areas by 
graphical method? / fuEu esa ls dkSu lk ,d 
xzkfQdy fof/k }kjk {ks=ksa dh x.kuk fof/k ugha gS\  

A)  By the use of Rolling Planimeter / 
jksfyax IykfuehVj dk iz;ksx djds  

B)  By computing areas along 
boundaries / lhekvksa ds lkFk {ks=ksa dh x.kuk 
djds  

C)  By dividing the entire area into 
triangles / lEiw.kZ {ks= dks f=dks.kksa esa foHkkftr 
djds  

D)  By dividing the entire area into 
trapezoids / lEiw.kZ {ks= dks leyEcksa esa 
foHkkftr djds  
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54) In a circular pipe, the co-efficient of 
friction for a laminar flow is given by / ,d 
xksykdkj ikbi esa] ,d i.kZnyh; izokg ds fy, ?k"kZ.k 
xq.kkad dks fdlds }kjk n'kkZ;k tkrk gS\  

A)  

   

B)  

   

C)  

   

D)  

   

 
55) A beam consisting of two or more 
materials rigidly connected to each other 
preventing any slip between them during 
bending is called / casfMax ds nkSjku fdlh Hkh 
fLyi (सरक) dks jksdus ds fy, ,d nwljs ls dBksjrk 

ls tqM+h nks ;k nks ls अधिक lkefxz;ksa ls cus che dks 
D;k dgk tkrk gS\  

A)  non composite beam / नॉन कम्पोससट che  

B)  non uniform beam /  नॉन यनूनफामष che  

C)  flitched beam / f¶yp che  

D)  timber beam / fVEcj che  

 
56) In an angle section of size ISA-
150X100X 6, the thickness in mm is / 
ISA-150X100X 6 vkdkj ds dks.k vuqHkkx esa] 
feeh esa eksVkbZ fdruh gksxh\  

A)  6 / 6  

B)  150 / 150  

C)  1/10th of any side which is higher / 
fdlh Hkh i{k tks vf/kd gS dk 1@10oka Hkkx  

D)  100 / 100  

 
57) In the case of sewers laid on flat 
gradients not producing self cleansing 
velocities creating blockage, which of 
the following is to be installed? / ;fn ¶ySV 
xzsfMaV ij LFkkfir lhoj #dkoV iSnk djds Lo% 
Dyhftax osx mRiUu ugha djrk gS] rks fdls baLVkWy 
fd;k tkrk gS\  

A)  Drop manhole / Mª‚i eSugksy  

B)  Flushing device / ¶yf'kax fMokbl  

C)  Oil trap / vkW;y VªSi  

D)  Catch basin / dSp csflu  

 
58) For a closed traverse, which check 
is more important and essential ? / DyksTM 
VªsolZ ds fy,] dkSu lk जााँच lcls vf/kd egRoiw.kZ vkSj 
vko';d gS\  

A)  Σ Departure = 0 only / dsoy Σ डडपाचषर ¾ 
0  

B)  Σ Latitude = 0 only / dsoy Σ लदैटट्यडू ¾ 0  
C)  F.B -B.B = 180° only / dsoy F.B -B.B 

= 180°  

D)  Σ Latitude = 0 and Σ Departure= 0 / 
Σ लदैटट्यडू¾ 0 vkSj Σ डडपाचषर¾ 0  
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59) A frog in a brick is provided to mainly 
serve which of the following purposes? / 
bZaV esa QzkWx dks eq[;r% fdl mís'; dks iwjk djus ds 
fy, iznku fd;k tkrk gS\  

A)  Emboss Builder's name / fcYMj ds uke 
dks ,Ec‚l (नक्काशी) djus ds fy,  

B)  Reduce the weight of brick / bZaV dk 
otu de djus ds fy,  

C)  Improve insulation by providing 
hollows / [kks[ky çnku djds bUlqys'ku esa 
lq/kkj djus ds fy,  

D)  Form keyed joint between brick and 
mortar / bZaV vkSj eksVkZj ds chp eq[; TokbaV 
cukus ds fy,  

 
60) Yielding in structural members with 
partial safety factor as 1.1 is governed 
by / 1-1 ds :i esa vkaf'kd lqj{kk dkjd ds lkFk 
lajpukRed lnL;ksa esa mit fdlds }kjk fu;fer gksrh 
gS\  

A)  net area of connected lug angle / 
dusfDVM yx dks.k dk fuoy {ks=  

B)  sectional area / vuqHkkxh; {ks=  

C)  effective area / çHkkoh {ks=  

D)  gross area / dqy {ks=  

 
61) A horizontal stratified soil deposit 
consists of three uniform layers whose 
thicknesses are 6, 3, 12 m respectively. 
The permeabilities of the layers are 4x 
10-4, 25x 10-4, 7.5 x 10-4 mm/s. Find the 
effective average permeability in the 
horizontal direction. / ,d {kSfrt Lrjh—r eǹk 
डडपाज़ित esa rhu एकसमान ijrs gSa ftudh eksVkbZ dze'k% 

6] 3] 12 eh gSA ijrksa dh ikjxE;rk 4x 10-4, 25x 

10-4, 7.5 x 10-4 feeh@lsdaM gSA {kSfrt fn'kk esa 
çHkkoh vkSlr ikjxE;rk Kkr djsaA  

A)  7 x 10-4 mm/s / 7 x 10-4 feeh@lsdaM  

B)  6 x 10-4 mm/s / 6 x 10-4 feeh@lsdaM  

C)  0.9 x 10-4 mm/s / 0.9 x 10-4 feeh@lsdaM  

D)  9 x 10-4 mm/s / 9 x 10-4 feeh@lsdaM  

 
62) Arrange the order of permanent 
adjustment of a theodolite. 
 
1) Plate level test 
2) Cross- hair ring test 
3) Bubble tube adjustment test 
4) Spire test 
5) Collimation in azimuth test 
6) Vertical circle test  
,d धथयोडोलाइट ds LFkk;h lek;kstu ds dze dks 
O;ofLFkr djsaA  

1) IysV ysoy VsLV  

2) dzkl&gs;j fjax VsLV  

3) ccy Vîwc lek;kstu VsLV  

4) Lik;j VsLV  

5) dksfyes'ku इन ऐिमथ VsLV 

6) ofVZdy ldZy VsLV 

 

A)  1-2-5-4-3-6  

B)  2-1-5-4-6-3  

C)  3-2-1-5-4-6  

D)  1-4-2-5-3-6  
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63) If Reynolds number of the flow of a 
liquid is more than 2800, then the flow is 
called as / ;fn rjy ds çokg dh jsu‚YM~l la[;k 
2800 ls vf/kd gS] rks çokg dks D;k dgk tkrk gS\  

A)  Turbulent flow / टर्बयषलन्ट çokg  

B)  Neither Laminar nor Turbulent / u gh 
लमीनार u gh टर्बयषलन्ट  

C)  Streamlined flow / स्रीमलाइन्ड  izokg  

D)  Laminar flow / लमीनार çokg  

 
64) The maximum daily demand at a 
water purification plant has been 
estimated as 12 million litres per 
day.Find the cross-sectional area of the 
sedimentation tank required if a 
detention period of 6 hours and the 
velocity of flow of 0.2 m/minute is 
assumed. / ty 'kks/ku la;a= esa vf/kdre nSfud 
ekax dk vuqeku 12 fefy;u yhVj izfr fnu ds :i esa 
yxk;k x;k gSA ;fn vojks/ku vof/k 6 ?kaVs vkSj izokg 
dh xfr 0-2eh@feuV ekuh xbZ gS] rks lsMhesaVs’ku VSad 
dk vuqizLFk काट {ks= Kkr djsaA  

A)  51.7 m2 / 51.7 eh2  

B)  41.7 m2 / 41.7 eh2  

C)  61.7 m2 / 61.7 eh2  

D)  31.7 m2 / 31.7 eh2  

 
65) Which of the following statements is 
not a limitation in a 'Plate Load Test'? / 
fuEu esa ls dkSu lk dFku ^IysV yksM ijh{k.k* esa ,d 
lhek ugha gS\  

A)  In case of cohesive soils this test 
does not give the ultimate settlement 
/ llatd eǹk ds ekeys esa] ;g ijh{k.k ds vafre 
voLFkkiu ugha nsrk gS  

B)  The test results reflect only the 
character of the soil located within a 
depth less than twice the width of the 

bearing plate / ijh{k.k ds ifj.kke dsoy 
ch;fjax IysV dh nksxquh pkSM+kbZ ls de xgjkbZ esa 
fLFkr feêh dh fo'ks"krk dks iznf'kZr djrk gS  

C)  The bearing capacity of sands and 
gravels increases with the size of the 
footing / jsr vkSj ctjh dh ogu {kerk QqfVax 
ds vkdkj ds lkFk c<+ tkrh gS  

D)  In this test a rigid plate is loaded at 
the foundation level and the 
settlements are determined 
corresponding to each load 
increment / bl ijh{k.k esa ,d dBksj IysV dks 
uhao Lrj ij yksM fd;k tkrk gS vkSj voLFkkiu 
dks çR;sd yksM c<+r ds vuq:i fu/kkZfjr fd;k 
tkrk gS  

 
66) Which of the following is an 
impermeable formation which neither 
contains water nor transmits any water? 
/ fuEu esa ls dkSu lk ,d ,slk vHks| xBu gS ftlesa u 
rks ikuh gksrk gS vkSj u gh ikuh izsf"kr gksrk gS\  

A)  Artesian aquifer / vkVsZfl;u ,DohQj  

B)  Aquiclude / ,DohDywM  

C)  Aquifer / ,DohQj  

D)  Aquifuge / ,Doh¶;wt  
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67) A bar of length ' l ' and cross 
sectional area (b x d ) is subjected to an 
axial force P. Young's modulus of the 
material is E, Poisson ratio = 1/m. What 
is the change in volume? / ' l ' yackbZ vkSj 
vuqizLFk काट  {ks= (b x d) वाले ckj v{kh; cy P ds 

v/khu gSA lkexzh dk यगं ekikad E] i‚btu vuqikr ¾ 
1@eh gSA ek=k esa fdruk ifjorZu gksxk\  

A)  
[1 -  

B)  
[m-  

C)  
[1 - .  

D)  
[E -  

 
68) The ruling design speed on a 
National Highway in plain terrain as per 
IRC recommendations is / IRC dh vuq’kalk 
ds vuqlkj lery bykds esa jk"Vªh; jktekxZ ij :fyax 
fMtkbu xfr fdruh gksrh gS\  

A)  100 kmph / 100 fdyksehVj çfr ?kaVk  

B)  60 kmph / 60 fdyksehVj çfr ?kaVk  

C)  70 kmph / 70 fdyksehVj çfr ?kaVk  

D)  150 kmph / 150 fdyksehVj çfr ?kaVk  

 
69) With the increase in value of 
plasticity index of soil, the quantity of 
lime required for stabilisation, / feêh dh 
lquE;rk lwpdkad ds ewY; esa o`f) ds lkFk] fLFkjhdj.k 
ds fy, vko';d pwus dh ek=k  

A)  Increases / c<+rh gS  

B)  Decreases / de gksrh gS  

C)  Remains unaffected / vçHkkfor jgrh gS  

D)  first increases and then decreases / 
igys c<+rh gS vkSj fQj de gksrh gS  

 

 

70) Void ratio of soil is the ratio of the / 
feêh dk 'kwU; vuqikr, fdldk vuqikr gS\  

A)  Volume of voids to volume of soil 
solids / fjfä;ksa dh ek=k ls feêh dh Bksl 
vkd`fr;ksa dh ek=k  

B)  Volume of voids to volume of water / 
fjfä;ksa dh ek=k ls ikuh dh ek=k  

C)  Volume of soil solids to volume of 
voids / feêh dh Bksl vkd`fr;ksa dh ek=k ls 
fjfä;ksa dh ek=k  

D)  Volume of voids to total volume / 
fjfä;ksa dh ek=k ls dqy ek=k  

 
71) The silt pressure( Ps) exerted on a 
gravity dam is given by ( Where үs= 
submerged unit weight, ɸ = angle of 
internal friction, and hs=The height to 
which the silt is deposited) / xzsfoVh MSe ij 
ykxw flYV ncko ( Ps) dks fdlds }kjk n’kkZ;k tkrk 
gS\ ¼tgka үs ¾ tyeXu bdkbZ otu] ɸ ¾ vkarfjd 
?k"kZ.k ds dks.k] vkSj hs ¾ ÅapkbZ ftl ij xkn tek 
gksrh gS½  

A)  

 

B)  

 

C)  

 

D)  
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72) What is the change in layer length of 
beam at level of neutral axis, if beam 
bends due to UDL? / ;fn che UDL ds 
कारण  eqMrh gS] rks rVLFk v{k ds Lrj ij che dh 
ijr yackbZ esa D;k ifjorZu gksxk\  

A)  No change in length / yackbZ esa dksbZ 
ifjorZu ugha gksrk gS  

B)  Depends on stress developed at that 
level / ml Lrj ij fodflr ruko ij fuHkZj 
djrk gS  

C)  Depends on shear stress / drjuh ruko 
ij fuHkZj djrk gS  

D)  Depends on intensity of load / yksM dh 
rhozrk ij fuHkZj djrk gS  

 
73) An anallatic lens in a tacheometer is 
provided to / Vsfd;ksehVj esa vukykfVd ysal 
fdlds fy, iznku fd;k tkrk gS\  

A)  make staff intercept proportional to 
its distance from the tacheometer / 
स्टैफ इन्टसेप्ट dks Vsfd;ksehVj ls bldh nwjh ds 
vkuqikfrd cukus ds fy,  

B)  reduce the length of the telescope / 
nwjchu dh yackbZ de djus ds fy,  

C)  to eliminate multiplying constant / 
xq.kd xq.kkad dks lekIr djus ds fy,  

D)  increase magnification / vkoZ/ku c<+kus ds 
fy,  

 
74) As per IS 456-2000, When HYSD 
bars are used, the minimum 
reinforcement in either direction of slabs, 
is / IS 456-2000 ds vuqlkj] tc HYSD ckj dk 
iz;ksx fd;k tkrk gS] rc LySc dh fdlh Hkh fn’kk esa 
U;wure lq–<hdj.k fdruk gksrk gS\  

A)  0.35 % of the total cross sectional 
area / dqy vuqizLFk {ks= dk 0.35 %  

B)  0.12 % of the total cross sectional 
area / dqy vuqizLFk {ks= dk 0.12 %  

C)  0.80 % of the total cross sectional 
area / dqy vuqizLFk {ks= dk 0.80 %  

D)  0.25 % of the total cross sectional 
area / dqy vuqizLFk {ks= dk 0.25 %  

 
75) Section modulus is defined as the / 
vuqHkkx ekikad dks fdl :i esa ifjHkkf"kr fd;k x;k 
gS\  

A)  ratio of bending stress to moment / 
csafMax स्रेस ls ewesaV dk vuqikr  

B)  ratio of bending moment to shear 
force / csafMax ewesaV ls (सशयर फ़ोसष)drjuh cy 
dk vuqikr  

C)  ratio of shear force to the area / (सशयर 
फ़ोसष)djruh cy ls {ks= dk vuqikr  

D)  ratio of bending moment to stress / 
csafMax ewesaV ls स्रेस dk vuqikr  

 
76) A cantilever beam is having Young's 
modulus E= 2x105 N/mm2, Moment of 
Inertia I=8 x107 mm4 and length= 2500 
mm. What is the uniformly distributed 
load which the beam can carry in order 
to produce a deflection of 5 mm at the 
free end? / ,d dsaVhyhoj che dk यगं ekikad E= 

2x105 N/mm2] ननज़ष्ियता के पल I=8 x107 

mm4] vkSj yackbZ = 2500 mm gSA leku :i ls 
forfjr yksM fdruk gksxk ftls che eqä var esa 5 feeh 
dk fo{ksiu mRiUu djus ds fy, ogu djrk gS\  

A)  16.384 kN/m  

B)  25.344 kN/m  

C)  14.543 kN/m  

D)  20.384 kN/m  
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77) For a fully saturated soil the degree 
of saturation in percentage is / iw.kZr% lar`Ir 
feêh ds fy,] çfr'kr esa lar`fIr dh fMxzh gS  

A)  200  

B)  100  

C)  20  

D)  10  

 
78) Generally in a column base the 
shear resistance at the proper contact 
surface between steel base and the 
concrete may be calculated using a 
friction coefficient of / vke rkSj ij ,d dkWye 
ds vk/kkj esa] LVhy vk/kkj vkSj dadzhV ds chp mfpr 
laidZ okyh lrg ij drjuh çfrjks/k dh x.kuk fdrus 
?k"kZ.k xq.kkad dk mi;ksx djds dh tk ldrh gS\  

A)  0.45  

B)  0.85  

C)  1.5  

D)  0.95  

 
79) An ideal transition curve is / ,d vkn'kZ 
Vªkath'ku odz gS  

A)  Cubic parabola / ?ku ijoy; 
(क्यबूबक  पlराबोला)  

B)  Bernoulli's lemniscate / cjukWyh yseuhLdsV  

C)  Clothoid / DyksFkWk;M  

D)  Parabola / ijoy; (पlराबोला)  
 

80) Maximum content (kg/m3 ) of 
ordinary portland cement in design mix 
of concrete (1m3 ) is / daØhV ds fMtkbu feJ.k 
(1eh3) esa lk/kkj.k iksVZySaM lhesaV dh vf/kdre 
मात्रा ¼fdyks@eh3½ gS  

A)  500  

B)  450  

C)  350  

D)  400  

 
81) If p is the standard consistency of 
cement, the amount of water used in 
conducting the initial setting time test on 
cement is / ;fn P lhesaV dh ekud घनापन gS] rks 

lhesaV पर çkjafHkd स्थापन काल परीक्षण dh सवंाही ds 
fy, iz;qDr gksus okys ty dh ek=k fdruh gksrh gS\  

A)  0.6p  

B)  0.8p  

C)  0.85p  

D)  0.65p  

 
82) Which one of the following is the 
correct expression to estimate the 
development length of reinforcing bars in 
general as per IS 456-2000?( Symbols 
and notations carry their usual meaning) 
/ IS 456-2000 ds vuqlkj] fuEu esa ls dkSu lk ,d 
lkekU;r% lqn<̀+ cklZ dh ifjof/kZr yackbZ dk vuqeku 
yxkus ds fy, lgh vfHkO;fä gS\ ¼çrhdksa vkSj vadu ds 
vius lkekU; vFkZ gSa½  

A)  (Ø σs) / (5 τbd )  

B)  (Ø σs) / (8 τbd )  

C)  (Ø σs) / (4 τbd )  

D)  (Ø σs) / (4.5 τbd )  
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83) Calculate the co-efficient of volume 
change( mv) for pressure range 100 to 
200 kN/m2. Given data is σ0= 100kN/m2 , 
σ= 200kN/m2 and e0=1.121, e= 0.964. ( 
Symbols and notations carry their usual 
meaning) / ncko jsat 100 ls 200 kN/m2 ds fy, 
ek=k ifjorZu xq.kkad (mv) dh x.kuk djsaA fn;k x;k 
MsVk gS σ0= 100kN/m2, σ= 200kN/m2 vkSj 
e0=1.121, e= 0.964- ¼çrhdksa vkSj vadu ds vius 
lkekU; vFkZ gSa½  

A)  7.4 x 10-4 m2/kN  

B)  2.5 x 10-4 m2/kN  

C)  3.4 x 10-4 m2/kN  

D)  6.5 x 10-4 m2/kN  

 
84) A standard fillet weld consists of 
isosceles triangle with which of the 
following angles? / ,d ekud fQysV osYM esa 
fdl dks.k eki okyk lef}ckgq f=dks.k gksrk gS\  

A)  60 degrees / 60 fMxzh  

B)  45 degrees / 45 fMxzh  

C)  20 degrees / 20 fMxzh  

D)  75 degrees / 75 fMxzh  

 
85) In a cantilever beam, tensile or main 
reinforcement is provided / ,d dsaVhyhoj che 
esa] rU;rk ;k eq[; lq–<hdj.k dks dgka çnku fd;k 
tkrk gS\  

A)  On the bottom or lower face of the 
beam / che ds ry ;k fupys i{k ij  

B)  On the top or upper face of the beam 
/ che ds 'kh"kZ ;k Åijh i{k ij  

C)  On both the top and bottom of the 
beam / che ds 'kh"kZ vkSj ry nksuksa ij  

D)  In the middle of the beam / che ds chp 
esa  

 

86) Best suited material for stabilization 
of black cotton soils is / dkyh feêh ds 
fLFkjhdj.k ds fy, lcls mi;qä lkexzh D;k gS\  

A)  Sodium silicate / lksfM;e flfydsV  

B)  Calcium chloride / dSfY'k;e DyksjkbM  

C)  Hydrated lime / ty;ksftr pwuk  

D)  Bitumen / बबटूमन  

 
87) As per IS-456: 2000, Side face 
reinforcemnet shall be provided along 
the two faces of a reinforced concrete 
beam, when the depth of the web 
exceeds / IS-456: 2000 ds vuqlkj] lkbM Qsl 
lqǹ<+hdj.k dks rc çcfyr daØhV che ds nks i{kksa ds 
lkFk iznku fd;k tkrk gS tc osc dh xgjkbZ fdrus ls 
vf/kd gksrh gS\  

A)  500 mm / 500 feeh  

B)  750 mm / 750 feeh  

C)  250mm / 250 feeh  

D)  400 mm / 400 feeh  

 
88) Which of the following represents a 
beam having maximum bending stress 
at all cross sections? / fuEu esa ls dkSu lk ,d 
vuqizLFk {ks= esa vf/kdre csafMax ruko okyh che dks 
iznf'kZr djrk gS\  

A)  Beams of adjusting length / lek;ksftr 
yackbZ okyh che  

B)  Beams of varing strength / fofHkUu 
etcwrh okyh che  

C)  Beams of uniform strength / ,dleku 
etcwrh okyh che  

D)  Beams of maximum shear strength / 
vf/kdre drjuh etcwrh okyh che  
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89) A column may be called as short 
column if the slenderness ratio is / dkWye 
dks 'kkWVZ dkWye ds :i esa tkuk tkrk ;fn 
उसका lqdqekjrk vuqikr   

A)  Between 13 and 18 / 13 vkSj 18 ds chp gS  

B)  more than 24 / 24 ls vf/kd gS  

C)  Between 20 and 24 / 20 vkSj 24 ds chp gS  

D)  Less than 12 / 12 ls de gS  

 
90) Which one of the following causes 
raveling in bituminous pavement? / fuEu esa 
ls dkSu lk ,d fcVqfeul पेवमेंट esa jsofyax dk dkj.k 
gS\  

A)  Use of soft bitumen / सॉफ्ट बबटुसमन dk 
ç;ksx  

B)  Use of open graded aggregates / [kqys 
oxhZ—r leqPp; dk mi;ksx  

C)  Excessive bitumen content / vR;f/kd 
बबटुसमन मात्रा  

D)  Low bitumen content / de बबटुसमन मात्रा  
 

91) Consolidation is a result of / lesdu 
fdldk ifj.kke gS\  

A)  Specific gravity of soils / feêh dk fof'k"V 
xq#Ro  

B)  Lowering of ground water table / Hkwty 
dk Lrj de gksuk  

C)  Self-weight of soil and external load 
from structure / feêh dk Lo% Hkkj vkSj 
lajpuk dk vf/kd yksM  

D)  Expulsion of water from pores / fNnzksa 
ls ikuh dk fu"dklu  

 
92) Which of the following represents 
the correct conditions for maximum 
discharge through a rectangular 
section?( Symbols and notations carry 

their usual meaning) / fuEu esa ls dkSu lk ,d 
vk;rkdkj vuqHkkx ds ek/;e ls vf/kdre fuoZgu ds 
fy, lgh fLFkfr dks iznf’kZr djrk gS\ ¼izrhdksa vkSj 
vadu ds vius lkekU; vFkZ gSa½  

A)  b=d and m=d/3 / b=d vkSj m=d/3  

B)  b=2d and m=d/2 / b=2d vkSj m=d/2  

C)  b=4d and m=d/4 / b=4d vkSj m=d/4  

D)  b=d/2 and m=d/3 / b=d/2 vkSj m=d/3  

 
93) A certain RCC structure has to be 
constructed along sea coast and will be 
exposed to sea water spray. What is the 
exposure condition according IS 456-
2000? / ,d fu;r RCC lajpuk dks leqæ rV ds 
lkFk fufeZr fd;k x;k gS vkSj bl ij leqæh ty dh 
ckSNkjs iM+saxhA IS 456-2000 ds vuqlkj vukJ;rk 
fLFkfr D;k gS\  

A)  Very Severe / cgqr गभंीर  
B)  Mild / lkSE;  

C)  Extreme / अधिकतम   

D)  Moderate / e/;e  

 
94) Which of the following is not an 
Hydraulic failure of Earth dams? / fuEu esa 
ls dkSu lk ,d vFkZ MSe dh gkbMªksfyd foQyrk ugha 
gS\  

A)  Sloughing / lykWfaxax  

B)  Toe erosion / Vks bjkstu  

C)  Wave erosion / oso bjkst+u  

D)  Overtopping / vksojVksfiax  
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95) The critical velocity ratio was 
introduced in Kennedy's equation of 
critical velocity to take into account the 
effect of / egRoiw.kZ osx vuqikr dks fdlds çHkko esa 
ykus ds fy, egRoiw.kZ osx ds dSusMh lehdj.k esa is'k 
fd;k x;k Fkk\ 
 
dSusMh ds egRoiw.kZ osx lehdj.k esa egRoiw.kZ osx 
vuqikr dks fdlds çHkko dk दहसाब रखने ds fy, is'k 
fd;k x;k Fkk\  

A)  roughness of bed / lrg dk [kqjnjkiu  

B)  silt grade / flYV xzsM  

C)  channel cross-section / pSuy dk अनपु्रस्थ 

काट  

D)  climatic condition / मौसमी fLFkfr  

 
96) The distance between the center of 
two consecutive rivets measured along a 
row of rivets is called as / jhosV dh ,d iafä 
ds lkFk ekis x, nks dzekxr jhosV~l ds dsaæ ds chp dh 
nwjh dks D;k dgk tkrk gS\  

A)  Eccentric distance / एक्सेंदरक डडस्टेंस  

B)  Edge distance / एड्ज डडस्टेंस   

C)  Guage / xst  

D)  Pitch / fip  

 
97) The useful storage of water in a 
reservoir is / tyk'k; esa ty dk mi;ksxh HkaMkj.k 
fdruk gksrk gS\  

A)  between the minimum pool level and 
maximum pool level / U;wure iwy Lrj vkSj 
vf/kdre iwy Lrj ds chp  

B)  between the normal pool level and 
maximum pool level / lkekU; iwy Lrj 
vkSj vf/kdre iwy Lrj ds chp  

C)  between the river bed and minimum 
pool level / jhoj csM vkSj U;wure iwy Lrj ds 
chp  

D)  between the minimum pool level and 
normal pool level / U;wure iwy Lrj vkSj 
lkekU; iwy ds Lrj ds chp  

 
98) If T is the tensile force and µ is the 
coefficient of friction, then in a steel bolt 
the horizontal frictional force(F) induced 
is given by / ;fn T rU; 'kfä gS vkSj μ ?k"kZ.k dk 
xq.kkad gS] rks LVhy cksYV esa izsfjr {kSfrt ?k"kZ.k cy ¼F½ 
dks fdlds }kjk n'kkZ;k tkrk gS\  

A)  F= µ +T  

B)  F=µ/T  

C)  F= µ -T  

D)  F=µT  
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99) Match List-I of various uses with 
their corresponding suitable timber in 
List-II  
 

 / 
lwph -I esa fn, x, fofHkUu mi;ksxksa dks lwph-II esa fn, 
muds mi;qDr fVacj ls lqesfyr djsa 
 

A)  1-b, 2-a, 3-d, 4-c  

B)  1-a, 2-b, 3-c, 4-d  

C)  1-c. 2-d, 3-b, 4-a  

D)  1-d, 2-c, 3-b, 4-a  

 
100) Hydraulic Jump occurs when the 
flow changes from / gkbMªksfyd tEi rc gksrk gS 
tc çokg  

A)  super-critical to sub-critical / lqij 
fdzfVdy ls lc fØfVdy होता है   

B)  laminar to turbulent / ysfeukj ls 
VcZwysaV होता है   

C)  sub-critical to super-critical / lc 
fdzfVdy ls lqij fØfVdy होता है   

D)  critical to turbulent / fdzfVdy ls 
VcZwysaV होता है   

 
101) The sliding factor( S.F) in a gravity 
dam is given by ( where ∑H= Sum of the 
horizontal forces and ∑V= net vertical 
force) / xzsfoVh MSe esa LykbfMax dkjd (S.F) dks 
fdlds }kjk n’kkZ;k tkrk gS\ ¼tgka ∑H ¾ {kSfrt cyksa 
dk ;ksx gS vkSj ∑V ¾ननवल yEcor cy½  

A)  ∑H - ∑V  
B)  ∑V / ∑H  
C)  ∑H + ∑V  
D)  ∑H / ∑V  

 
102) Generally, which of the following 
sections is most economical and 
preferred for resisting bending 
moments? / vke rkSj ij] fuEu esa ls dkSu lk 
सेक्शन csafMax ewesaV izfrjks/k ds fy, lcls fdQk;rh 
vkSj ojh; gS\  

A)  I - section / I & vuqHkkx  

B)  Circular / ifji= (चिाकार)  
C)  Triangular / f=dks.kh;  

D)  Rectangular / vk;rkdkj  
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103) The approximate formula or 
expression used for radius as well as 
perpendicular offset according to the 
tangent method of laying simple circular 
curves is ( Here x is the offset distance 
and R is the radius of the curve) 
(Symbols and notations carry their usual 
meaning) / lk/kkj.k o`Rrkdkj odz dh Li'kZjs[kk fof/k 
ds vuqlkj yacor ऑफसेट ds lkFk lkFk f=T;k ds fy, 

vuqekfur lw= ;k vfHkO;fDr dkSu lh gS\ (;gka x 
vkWQlsV nwjh gS vkSj R odz dh f=T;k gS) (izrhdksa ,oa 
vadu ds vius lkekU; vFkZ gSa)  

A)  x/2R  

B)  x2/R  

C)  x/R  

D)  x2/2R  

 
104) Most suitable material for highway 
embankment is / jktekxZ rVca/k ds fy, lcls 
mi;qä lkexzh gS  

A)  Granular soil / खुरिरी feêh  
B)  Organic soil / ऑगनैनक feêh  

C)  Tree roots / ò{k dh tM+sa  

D)  Saturated clay / lar`Ir feêh  

 
105) Which of the following states or 
conditions falls under the Limit state of 
serviceability as per IS 456-2000? / IS 
456-2000 ds vuqlkj] fuEu esa ls dkSu lh voLFkk ;k 
fLFkfr lsok {kerk dh lhek voLFkk ds varxZr vkrh gS\  

A)  Floor vibration / Q’kZ dk daiu  

B)  Stability under liveload only / dsoy 
ykbo yksM ds varxZr fLFkjrk  

C)  Loss of equilibrium of a structure / 
lajpuk ds larqyu dh gkfu  

D)  Scaffolding for a structure / lajpuk ds 
fy, epku  

 

106) A pipe installed for ventilation 
process is called / osafVys'ku çfØ;k ds fy, 
LFkkfir ikbi dks D;k dgk tkrk gS\  

A)  anti-siphonage pipe / ,aVh flQksust ikbi  

B)  vent pipe / osaV ikbi  

C)  soil pipe / lkW;y ikbi  

D)  waste pipe / osLV ikbi  

 
107) The surge tank is provided to / ltZ 
VSad fdlds fy, iznku fd;k tkrk gS\  

A)  supply more water whenever needed 
/ vko’;drk ds le; ikuh dh vf/kd vkiwfrZ ds 
fy,  

B)  increase velocity of flow in a pipe / 
ikbi esa çokg ds osx esa o`f) djus ds fy,  

C)  remove impurities from water / ikuh ls 
v'kqf);ksa dks nwj djus ds fy,  

D)  provide safety against water hammer 
/ okWVj gSej ds f[kykQ lqj{kk çnku djus ds fy,  

 
108) The Hydraulic loading for a High 
Rate Trickling Filter varies between / mPp 
nj ds fVªdfyax fQYVj ds fy, gkbMªksfyd yksfMax 
fdlds chp fHkUu gksrh gS\  

A)  110 to 330 M.L per hectare per day / 
çfr fnu çfr gsDVs;j 110 ls 330 ,e-,y-  

B)  50 to 60 M.L per hectare per day / 
çfr fnu çfr gsDVs;j 50 ls 60 ,e-,y-  

C)  500 to 600 M.L per hectare per day / 
çfr fnu çfr gsDVs;j 500 ls 600 ,e-,y-  

D)  11 to 33 M.L per hectare per day / 
çfr fnu çfr gsDVs;j 11 ls 33 ,e-,y-  
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109) The infiltration capacity of a soil 
was measured under fairly identical 
general conditions by a flooding type 
infiltrometer as (ff) and by a rainfall 
simulator as( fr). One can expect / feêh dh 
?kqliSB या समावशे {kerk dks ¶yfMax Vkbi 

इज़न्फल्ट्रोमीटर (ff) vkSj o"kZ.k flE;wysVj (fr) }kjk dkQh 
leku lkekU; ifjfLFkfr;ksa ds varxZr ekik tkrk FkkA 
fuEu esa ls fdldh vis{kk dh tk ldrh gS\  

A)  no fixed pattern / dksbZ fuf'pr iSVuZ ugh gS  

B)  ff = fr / ff = fr  

C)  ff <fr / ff <fr  

D)  ff > fr / ff > fr  

 
110) As a construction material, plywood 
is preferred to thin planks of timber 
because of / ,d fuekZ.k lkexzh ds :i esa] IykbZoqM 
dks fdl dkj.k ls fVEcj dh iryh iV~Vh ds स्थान 

पर ilan fd;k tkrk gS\  

A)  it helps in cost saving and 
environmental considerations / ;g 
ykxr dh cpr vkSj i;kZoj.kh; dkj.kksa esa enn 
djrk gS  

B)  good dimensional stability in 
longitudinal direction only / dsoy 
vuqnS/k;Z fn'kk esa vPNk vk;keh fLFkjrk ds dkj.k  

C)  good strength only in lateral direction 
and giving a good aesthetic look / 
dsoy ik'oZ fn'kk esa vPNh etcwrh vkSj vPNh 
n`';d ltkoV ds dkj.k  

D)  good strength and dimensional 
stability in both lateral and 
longitudinal directions / nksuksa ik'oZ vkSj 
vuqnS/k;Z fn'kkvksa esa vPNh etcwrh vkSj vk;keh 
fLFkjrk ds dkj.k  

 
111) For mechanically aerated lagoons, 
less detention time and areas are 
required because / ;a=or okfrr ySxwu ds सलए] 

de vojks/ku le; vkSj {ks=ksa dh vko';drk D;ksa gksrh 
gS\  

A)  it is more loaded than the oxidation 
ponds / ;g v‚Dlhdj.k rkykcksa dh rqyuk esa 
vf/kd Hkjk gqvk gksrk gS  

B)  these ponds are wider than the 
oxidation ponds / ;g rkykc v‚Dlhdj.k 
rkykcksa dh rqyuk esa vf/kd O;kid gksrk gS  

C)  these ponds are deeper than the 
oxidation ponds / ;g rkykc v‚Dlhdj.k 
rkykcksa dh rqyuk esa vf/kd xgjk gksrk gS  

D)  it is less loaded than the oxidation 
ponds / ;g v‚Dlhdj.k rkykcksa dh rqyuk esa 
de Hkjk gqvk gksrk gS  

 
112) The average spacing between 
vehicles in a traffic stream is 50 m , then 
the density (in vehicle per Km) of stream 
is / ;fn ;krk;kr /kkjk esa okguksa ds chp vkSlru 
varjky 50eh gS] rks /kkjk dk ?kuRo ¼çfr fdyksehVj 
okgu esa½ gS  

A)  15  

B)  17  

C)  10  

D)  20  
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113) The deflection of a simply 
supported beam with an uniformly 
distributed load w per unit length, having 
flexural rigidity EI and of length L is 
given by / ,d leku :i ls forfjr yksM w izfr 
bdkbZ yackbZ ds lkFk vkueuh dBksjrk EI vkSj yackbZ 
L okys ससम्पली सपु्पोटेड che ds >qdko dks fdlds }kjk 
izf'kZr fd;k tkrk gS\  

A)  

   

B)  

   

C)  

   

D)  

   

 
114) In distribution pipes, air valves are 
provided at which points? / forj.k ikbi esa] 
,;j okYo dks fdl fcanq ij iznku fd;k tkrk gS\  

A)  lower points / fuEu fcanq ij  

B)  any point / fdlh Hkh fcanq ij  

C)  higher points / mPp fcanq ij  

D)  junction points / taD'ku fcanq ij  

 
115) The shape of the camber best 
suited for cement concrete pavements is 

a / lhesaV dadzhV ds पेवमेंट ds fy, lcls mi;qDr 

odzrk (dSacj) dk vkdkj D;k gksrk gS\  

A)  Parabola / ijoy;  

B)  Combination of straight and 
parabolic / lh/kh vkSj ijoyf;d dk;qXe  

C)  Circle / o`Ùk  

D)  Straight line / lh/kh js[kk  
 

116) The Babbit's formula for sewage 
flow in a residential area is ( Where 
Qmax and Qav are the maximum and 
average rate of flow, P= population in 
thousand) / ,d vkoklh; {ks= esa lhost 
(मलजल)  çokg ds fy, cfcV~l lw= D;k gS\ ¼tgka 

Qmax vkSj Qav çokg dh vf/kdre vkSj vkSlr nj 
gS] jgs gSa] P= gtkjksa esa vkcknh gS½  

A)  

 

B)  

 

C)  

 

D)  

 

 
117) For the Water-bound Macadam 
roads, the recommended camber is / 
okWVj&ckmaM esdkMSe lM+dksa ds fy,] vuq'kaflr odzrk 
(dSacj) gS  

A)  1 in 24 to 30 / 24 ls 30 esa 1  

B)  1 in 80 to 120 / 80 ls 120 esa 1  

C)  1 in 30 to 48 / 30 ls 48 esa 1  

D)  1 in 60 to 80 / 60 ls 80 esa 1  
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118) The particular places where 
pedestrians are to cross the pavement 
which are properly marked by the 
pavement marking is known as / mu fo'ks"k 
LFkkuksa dks D;k dgk tkrk gS] tgka iSny ;k=h QqVikFk 
vadu }kjk lVhdrk ls vafdr पेवमेंट dks ikj djrs gSa\  

A)  Marked crosswalk lines / ekdZ~M dzkWlokWd 
ykbUl  

B)  Stop lines / LVkWi ykbUl  

C)  Turn markings / VuZ ekfdZax  

D)  Lane lines / ysu ykbUl  

 
119) The colour of the light used for 
visibility during fog is / dksgjs ds nkSjku –';rk 
ds fy, iz;qDr fd, tkus okys izdk’k dk jax gS  

A)  Green / gjk  

B)  White / lQsn  

C)  Red / yky  

D)  Yellow / ihyk  

 
120) For the viscous flow between two 
parallel plates, the loss of pressure head 
is given by the equation, / nks lekukarj IysVksa 
ds chp fpifpis çokg ds fy,] nckoh; gkfu dks fdl 
lehdj.k }kjk n'kkZ;k tkrk gS\  

A)  

 

B)  

   

C)  

   

D)  
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Answer Key 

1.  C 

2.  A 

3.  C 

4.  B 

5.  D 

6.  B 

7.  B 

8.  A 

9.  A 

10. A 

11. A 

12. C 

13. C 

14. B 

15. B 

16. D 

17. C 

18. C 

19. D 

20. A 

21. C 

22. C 

23. D 

24. B 

25. B 

26. C 

27. A 

28. C 

29. C 

30. C 
 

31. A 

32. D 

33. D 

34. C 

35. A 

36. A 

37. A 

38. D 

39. A 

40. C 

41. B 

42. D 

43. C 

44. C 

45. D 

46. D 

47. A 

48. D 

49. D 

50. C 

51. A 

52. A 

53. C 

54. D 

55. C 

56. A 

57. B 

58. D 

59. D 

60. D 
 

61. D 

62. A 

63. A 

64. B 

65. D 

66. D 

67. A 

68. A 

69. A 

70. A 

71. B 

72. A 

73. A 

74. A 

75. D 

76. A 

77. B 

78. A 

79. B 

80. B 

81. C 

82. C 

83. A 

84. B 

85. B 

86. C 

87. B 

88. C 

89. D 

90. D 
 

91.  A 

92.  B 

93.  A 

94.  A 

95.  B 

96.  D 

97.  D 

98.  D 

99.  C 

100. A 

101. D 

102. A 

103. D 

104. A 

105. A 

106. B 

107. D 

108. A 

109. D 

110. D 

111. C 

112. D 

113. D 

114. C 

115. D 

116. B 

117. C 

118. A 

119. D 

120. B 
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